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 ytmd 0tzwrk
. 0 .

Mhrb0d hrb dywdd hrb 0xy4m (w4yd htwdylyd 0btk 1:1

 0dwhyl dlw0 Bwq9y Bwq9yl dlw0 Qxsy0 Qxsy0l dlw0 Mhrb0 1:2

Yhwx0lw
 dlw0 Jwrcx Jwrcxl dlw0 crp rmt Nm Xrzlw crpl dlw0 0dwhy 1:3

Mr0l
Jwmlsl dlw0 Jw4xn Jw4xnl dlw0 Bdnym9 Bdnym9l dlw0 Mr0 1:4

dlw0 dybw9 tw9r Nm dybw9l dlw0 z9b Bxr Nm z9bl dlw0 Jwmls 1:5

Y4y0l
0yrw0d httn0 Nm Jwmyl4l dlw0 dywd 0klm dywdl dlw0 Y4y0 1:6

0s0l dlw0 0yb0 0yb0l dlw0 M9bxr M9bxrl dlw0 Jwmyl4 1:7

0yzw9l dlw0 Mrwy Mrwyl dlw0 +p4why +p4whyl dlw0 0s0 1:8

0yqzxl dlw0 zx0 zx0l dlw0 Mtwy Mtwyl dlw0 0yzw9 1:9

0y4wyl dlw0 Jwm0 Jwm0l dlw0 04nm 04nml dlw0 0yqzx 1:10

Lbbd Fwlgb Yhwx0lw 0ynkwyl dlw0 0y4wy 1:11

Ly0tl4 Ly0tl4l dlw0 0ynkwy Lbbd Nyd Fwlg rtb Nm 1:12

Lbbrwzl dlw0
rwz9l dlw0 Myqyl0 Myqyl0l dlw0 dwyb0 dwyb0l dlw0 Lbbrwz 1:13

dwyl0l dlw0 Nyk0 Nyk0l dlw0 Qwdz Qwdzl dlw0 rwz9 1:14

Bwq9yl dlw0 Jtm Jtml dlw0 rz9yl0 rz9yl0l dlw0 dwyl0 1:15

4



0rqtmd (w4y dlyt0 hnmd Myrmd hrbg Pswyl dlw0 Bwq9y 1:16

0xy4m
Nmw 0rs9br0 Fbr4 dywdl 0md9 Mhrb0 Nm Fbr4 Lykh Nyhlk 1:17

0md9 Lbbd Fwlg Nmw 0rs9br0 Fbr4 Lbbd Fwlgl 0md9 dywd
0rs9br0 Fbr4 0xy4ml

 Pswyl hm0 Myrm twh 0rykm dk 0wh 0nkh 0xy4m (w4yd Nyd hdly 1:18

04dwqd 0xwr Nm 0n=b txkt40 Jwptwt4n fd9
0wh Y9rt0w hysrpnd 0bc fw 0wh 0n0k hl9b Nyd Pswy 1:19

hyr4n ty0y4=md
Pswy hl rm0w 0mlxb 0yrmd 0k0lm hl Yzxt0 Y9rt0 Nyd Nylh dk 1:20

0xwr Nm hb dlyt0d ryg wh <ttn0 Myrml Bsml Lxdt f dywdd hrb
04dwqd wh

Jwhyh=x Nm hm9l Yhwyxn ryg wh (w4y hm4 0rqtw 0rb Nyd dl0t 1:21

0ybn dyb 0yrm Nm rm0t0d Mdm fmtnd twhd hlk Nyd 0dh 1:22

Mgrttmd Ly0wnm9 hm4 Jwrqnw 0rb dl0tw N=bt Flwtb 0hd 1:23

Jhl0 Nm9
0yrmd hk0lm hl dqpd 0nky0 db9 htn4 Nm Pswy Nyd Mq dk 1:24

httn0l hrbdw
(w4y hm4 trqw 0rkwb hrbl htdlyd 0md9 hmkx fw 1:25
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. b .

wt0 0klm Sdwrh Ymwyb 0dwhyd Mxl-tybb (w4y dlyt0 Nyd dk 2:1

Ml4rw0l 0xndm Nm 04wgm
Nyt0w 0xndmb hbkwk ryg Nyzx dlyt0d 0ydwhyd 0klm wky0 Nyrm0w 2:2

hl dgsml
hm9 Ml4rw0 hlkw (yztt0w 0klm Sdwrh Nyd (m4 2:3

0xy4m dlytm 0ky0d Jwhl 0wh L04mw 0m9d 0rpsw 0nhk Ybr Jwhlk $nkw 2:4 

0ybnb Bytk ryg 0nkh 0dwhyd Mxl-tybb wrm0 Nyd Jwnh 2:5

Yknm 0dwhyd 0klmb 0rycb Ytywh f 0dwhyd Mxl-tyb Ytn0 P0 2:6

Ly0rsy0 Ym9l Yhwy9rn whd 0klm Qwpn ryg
Yzxt0 0nbz 0ny0b Jwhnm Plyw 04wgml 0rq ty0y4=m Sdwrh Nydyh 2:7

0bkwk Jwhl
0mw ty0=ypx 0yl= L9 wbq9 wlz Jwhl rm0w Mxl-tybl Jwn0 rd4w 2:8

hl dwgs0 Lz0 0n0 P0d Ynw0wx wt Yhynwtxk40d
Lz0 0xndmb wzxd wh 0bkwk 0hw wlz0 0klm Nm w9m4 dk Nyd Jwnh 2:9

0yl= Yhwty0d 0ky0 Nm L9l Mq F0d 0md9 Jwhymdq 0wh
B=d Fbr Fwdx wydx 0bkwkl Yhw0zx Nyd dk 2:10

wxtpw hl wdgs wlpnw hm0 Myrm M9 0yl=l Yhw0zxw Fybl wl9w 2:11

Fnwblw 0rwmw 0bhd 0nbrwq hl wbrqw Jwhtmys
Frx0 0xrw0bw Sdwrh twl Jwkphn fd 0mlxb Jwhl Yzxt0w 2:12

Jwhrt0l wlz0
rbd Mwq hl rm0w Pswyl 0mlxb 0yrmd 0k0lm Yzxt0 wlz0 Nyd dk 2:13

ryg wh dyt9 Kl 0n0 rm0d 0md9 Ywh Nmtw Nyrcml Qwr9w hm0lw 0yl=l
Yhwydbwnd Ky0 0yl=l hy9bml Sdwrh
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Nyrcml Qr9w 0yllb hm0lw 0yl=l hlq4 Mq Nyd Pswy 2:14

 0yrm Nm rm0t0d Mdm fmtnd Sdwrhd htwml 0md9 Nmt 0whw 2:15

Yrbl tyrq Nyrcm Nmd rm0d 0ybnb
 L=q rd4w B= tmxt0 04wgm Nm Xzbt0d 0zx dk Sdwrh Nydyh 2:16

 txtlw Nyn4 Nytrt rb Nm hymwxt Jwhlkdw Mxl-tybd Jwhlk 0yl=
04wgm Nm Bq9d 0nbz Ky0

rm0d 0ybn 0ymr0 dyb rm0t0d Mdm Ylmt0 Nydyh 2:17

fw hynb L9 0ykb Lyxr 00ygs 0yl0w 0ykb Fmrb (mt40 fq 2:18

Jwhyty0 fd L=m w0ybtml 0ybc
 Nyrcmb Pswyl 0mlxb 0yrmd 0k0lm Yzxt0 0klm Sdwrh Nyd tym dk 2:19

 Jwhl wtym Ly0rsy0d 09r0l Lzw hm0lw 0yl=l rbd Mwq hl rm0w 2:20

0yl=d h4pn wwh Ny9bd Jwnh ryg
Ly0rsy0d 09r0l F0w hm0lw 0yl=l rbd Mq Pswyw 2:21

 Yhwb0 Sdwrh Plx dwhyb 0klm 0wh Sw0lkr0d (m4 Nyd dk 2:22

 fylgd 0rt0l Lz0nd 0mlxb hl Yzxt0w Nmtl Lz0nd Lxd 
rm0t0d Mdm fmtnd Ky0 trcn 0yrqtmd Fnydmb rm9 F0w 2:23

0rqtn 0yrcnd 0ybnb
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. g .

dwhyd 0brwxb 0wh zrkmw 0ndm9m Nnxwy F0 Jwnh Fmwyb Nyd Jwhb 3:1

0ym4d Fwklm hl tbrq wbwt rm0w 3:2

 wby= 0brwxb 0rqd fq 0ybn 0y940 dyb rym0d wh ryg wnh 3:3

Yhwlyb4l ww40w 0yrmd hxrw0
 L9 0k4md 0cx rs0w fmgd 0r9sd h4wbl 0wh Yhwty0 Nnxwy Nyd wh 3:4

0rbd 04bdw 0cmq htlwk0mw Yhwcx
Nndrwy Yrdxd 0rt0 hlkw dwhy hlkw Ml4rw0 htwl twh 0qpn Nydyh 3:5

Jwhyh=xb Nydwm dk 0rhn Nndrwyb hnm wwh Nydm9w 3:6

Jwhl rm0 dm9ml Nyt0d 0yqwdz Nmw 04yrp Nm 00ygs Nyd 0zx dk 3:7

F0d 0zgwr Nm Qr9ml Jwkywx wnm 0ndk0d  0dly
Fwbytl Nyw4d 0r0p Lykh wdb9 3:8

 Jwkl 0n0 rm0 Mhrb0 Nl ty0 0b0d Jwk4pnb Jwrm0tw Jwrbst fw 3:9

 Mhrb0l 0ynb wmqml 0p0k Nylh Nm 0hl0 Xk4md ryg
 0b= 0r0pd Lykh 0nly0 Lk 0nly0d 0rq9 L9 Mys 0grn Nyd 0h 3:10

0rwnb Lpnw Qsptm db9 f
 wh Ynm wh Nysx F0 Yrtbd Nyd wh Fwbytl 0ymb Jwkl 0n0 dm9m 0n0 3:11

0rwnbw 04dwqd 0xwrb Jwkl dm9m wh Lq4ml Yhwnsm 0n0 0w4 fd
 0nbtw Yhwrcw0l $nk 0=xw Yhwrd0 0kdmw hdy0b 04prd wh 3:12

0k9d fd 0rwnb dqwm
hnm dm9nd Nnxwy twl Nndrwyl fylg Nm (w4y F0 Nydyh 3:13

 dm9t0 Knmd 0n0 Qyns 0n0 rm0w hl 0wh fk Nnxwy Nyd wh 3:14

tyt0 Ytwl tn0w
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fmnd Nl 00y ryg 0nkh 04h Qwb4 hl rm0w 0n9 (w4y Nyd wh 3:15

hqb4 Nydyhw Fwn0k hlk
 0zxw 0ym4 hl wxtpt0w 0ym Nm Qls 0dxm (w4y Nyd dm9 dk 3:16

Yhwl9 tt0w 0nwy Ky0 Fxnd 0hl0d 0xwr
tyb=c0 hbd 0bybx Yrb wnh rm0d 0ym4 Nm fq 0hw 3:17

9



. d .

 Nm 0sntnd 0rbdml 04dwqd 0xwr Nm rbdt0 (w4y Nydyh 4:1

0crqlk0
Npk Nyd tyrx0 Jwlyl Ny9br0w Nymwy Ny9br0 Mcw 4:2

0p0k Nylhd rm0 0hl0d tn0 hrb J0 hl rm0w 0snmd wh Brqw 4:3

0mxl Nywhn
f0 04nrb 0yx dwxlb 0mxlb 0wh fd Bytk rm0w 0n9 Nyd wh 4:4

0hl0d hmwp Nm 0qpnd fm Lkb
fkyhd 0pnk L9 hmyq0w 04dwq tnydml 0crqlk0 hrbd Nydyh 4:5

Yhwk0lmld ryg Bytk txtl K4pn Yd4 0hl0d tn0 hrb J0 hl rm0w 4:6

Klgr 0p0kb Lqtt fd Knwlq4n Jwhydy0 L9w Kyl9 dqpn 
<hl0 0yrml 0snt fd Bytk Bwt (w4y hl rm0 4:7

0ml9d Fwklm Nyhlk hywxw Mr B=d 0rw=l 0crqlk0 hrbd Bwt 4:8

Nyhxbw4w
Yl dwgst Lpt J0 Lt0 Kl Nyhlk Nylh hl rm0w 4:9

dwgst <hl0 0yrmld ryg Bytk 0n=s Kl Lz (w4y hl rm0 Nydyh 4:10

Xwlpt Yhwdwxlb hlw
hl wwh Ny4m4mw wbrq 0k0lm 0hw 0crqlk0 hqb4 Nydyh 4:11

fylgl hl Yn4 Mlt40 Nnxwyd (w4y Nyd (m4 dk 4:12

 0mwxtb 0my dy L9 Mwxnrpkb rm9 F0w trcnl hqb4w 4:13

Yltpndw Jwlwbzd
rm0d 0ybn 0y940 dyb rm0t0d Mdm fmtnd 4:14

 Nndrwyd Yhwrb9 0myd 0xrw0 Yltpnd 09r0 Jwlwbzd 09r0 4:15

0mm9d fylg
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fl=bw 0rt0b Nybtyd Nyly0w 0zx 0br 0rhwn 0kw4xb Btyd 0m9 4:16

Jwhl Xnd 0rhwn Fwmd
 Fwklm ryg hl tbrq wbwt rm0mlw wzrkml (w4y Yr4 Nydyh Nm 4:17

0ym4d
 Yrqt0d Jw9m4 Nyx0 Nyrt 0zx fylgd 0my dy L9 Klhm dkw 4:18

0dyc ryg wwh Jwhyty0 0myb Fdycm Nymrd Yhwx0 Sw0rdn0w 0p0k
04n0 Ynbd 0dyc Jwwhtd Jwkdb90w Yrtb wt (w4y Jwhl rm0w 4:19

hrtb wlz0w Jwhtdycm wqb4 0dxm Nyd Jwnh 4:20

 Nnxwyw Ydbz rb Bwq9y Nyrt 0x0 0nrx0 0zx Nmt Nm rb9 dkw 4:21

Jwn0 0rqw Jwhtdycm Nynqtmd Jwhwb0 Ydbz M9 0pl0b Yhwx0
hrtb wlz0w Jwhwb0lw 0pl0l wqb4 0dxm Nyd Jwnh 4:22

zrkmw Jwht4wnkb 0wh Plmw fylg hlkb (w4y 0wh <rktmw 4:23

0m9b Jhrwkw B0k Lk 0s0mw Fwklmd Frbs
$yb $ybd Nyly0 Jwhlk hl wbrqw 0yrws hlkb hb= (mt40w 4:24

rbdw 0nwydw 0qyn4tb Nycyl0d Nyly0w 0plx4m 0nhrwkb Nydyb9
Jwn0 Ys0w 0yr4mw 0rg0

Ml4rw0 Nmw Fnydm-trs9 Nmw fylg Nm 00ygs 04nk hrtb wlz0w 4:25

Nndrwyd 0rb9 Nmw dwhy Nmw
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. h .

Yhwdymlt htwl wbrq Bty dkw 0rw=l Qls 04nkl (w4y Nyd 0zx dk 5:1

rm0w Jwhl 0wh Plmw hmwp Xtpw 5:2

0ym4d Fwklm Yh Jwhlydd Xwrb 0nksml Jwhybw= 5:3

Jw0ybtn Jwnhd fyb0l Jwhybw= 5:4

09r0l Jwtr0n Jwnhd 0kykml Jwhybw= 5:5

Jw9bsn Jwnhd Fwn0kl Nyhcw Nynpkd Nyly0l Jwhybw= 5:6

0mxr Jwwhn Jwhyl9d 0nmxrml Jwhybw= 5:7

0hl0l Jwzxn Jwnhd Jwhblb Nykdd Nyly0l Jwhybw= 5:8

Jwrqtn 0hl0d Yhwnbd 0ml4 Ydb9l Jwhybw= 5:9

Fwklm Yh Jwhlydd Fwn0k L=m wpdrt0d Nyly0l Jwhybw= 5:10

0ym4d
 Lk Jwkyl9 Nyrm0w Jwkl Nypdrw Jwkl Nydsxmd Ytm0 Jwkybw= 5:11

Fwlgdb Ytl=m 04yb fm
Nmd 0ybnl wpdr ryg 0nkh 0ym4b Ygs Jwkrg0d wzwrw wdx Nydyh 5:12

Jwkymdq
Xlmtt 0nmb hkpt 0xlmd Nyd whn0 09r0d hxlm Jwn0 Jwtn0 5:13

04n0 Nm $ydttw rbl 0dt4td f0 fz0 f Mdml
0rw= L9d Fnydm 04=td 0xk4m f 0ml9d hrhwn Jwn0 Jwtn0 5:14

0ynb
 rhnmw Frnm L9 f0 F0s tyxt hl Nymysw 0gr4 Nyrhnm fw 5:15

Jwn0 Fybbd Nyly0 Lkl
Jwxb4nw 0b= Jwkydb9 Jwzxnd 04nynb Mdq Jwkrhwn rhnn 0nkh 5:16

0ym4bd Jwkwb0l
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0r40d tyt0 f 0ybn w0 0swmn 0r40d tyt0d Jwrbst f 5:17

fm0d f0
 0dx dwy 09r0w 0ym4 Jwrb9nd 0md9d Jwkl 0n0 rm0 ryg Nym0 5:18

0whn Lkd 0md9 0swmn Nm rb9n f 0=rs dx w0
04nynbl 0nkh Plnw 0rw9z Nylh 0ndqwp Nm dx 0r4nd Lykh Nm Lk 5:19

0rqtn 0br 0nh Plnw db9nd Nyd Lk 0ym4d Fwklmb 0rqtn 0rycb
0ym4d Fwklmb

f 04yrpw 0rpsd Nm ryty Jwktwn0k rt0t f0d ryg Jwkl 0n0 rm0 5:20

0ym4d Fwklml Jwl9t
0nydl wh Byxm Lw=qnd Lkw Lw=qt f 0ymdql rm0t0d Jwt9m4 5:21

 wh Byxm 0qy0 Yhwx0 L9 zgrnd Nm Lkd Jwkl 0n0 rm0 Nyd 0n0 5:22

fl rm0nd Nmw F4wnkl wh Byxm 0qr Yhwx0l rm0nd Lkw 0nydl
0rwnd 0nhgl wh Byxm

dyx0d rkdtt Nmtw 0xbdm L9 Knbrwq tn0 Brqmd Lykh wh J0 5:23

Mdm Fk0 <wx0 Kyl9
<wx0 M9 09rt0 Mdqwl Lzw 0xbdm Mdq Knbrwq Nmt Qwb4 5:24

Knbrwq Brq F Nydyhw
 0mld 0xrw0b tn0 hm9 d9 Lg9 Knyd L9b M9 0w0tm tywh 5:25

0rys0 tyb Lptw 0ybgl Kml4n 0nydw 0nydl Kml4n Knyd L9b
0yrx0 0nwm4 Lttd 0md9 Nmt Nm Qwpt fd Kl 0n0 rm0 Nym0w 5:26

rwgt fd rm0t0d Jwt9m4 5:27

0dxm hygrnd Ky0 Ftn0 0zxd Nm Lkd Jwkl 0n0 rm0 Nyd 0n0 5:28

hblb hrg
ryg Kl Xqp Knm hyd4w hycx Kl f4km 0nymyd Kny9 Nyd J0 5:29

0nhgb Lpn <rgp hlk fw Kmdh dx db0nd
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dx db0nd ryg Kl Xqp Knm hyd4 Qwsp Kl f4km 0nymyd <dy0 J0w 5:30

0nhgb Lpn <rgp hlk fw Kymdh Nm
flwdd 0btk hl Ltn httn0 0r4d Nmd rm0t0 5:31

Flm Nm rbl httn0 0r4d Nm Lkd Jwkl 0n0 rm0 Nyd 0n0 5:32

r0g Fqyb4 Lq4d Nmw rwgtd hl db9 Fwynzd
Nyd Ml4t <tmwmb Lgdt fd 0ymdql rm0t0d Jwt9m4 Bwt 5:33

<tmwm 0yrml
wh 0ysrwkd 0ym4b f Ks Jwm0t f Jwkl 0n0 rm0 Nyd 0n0 5:34

0hl0d
htnydmd Ml4yrw0b fp0 Yhwlgr tyxtd Yh 04bwkd 09r0b fw 5:35

0br 0klmd Yh
0dx Fnm hb db9ml tn0 Xk4m fd 0m0t K4rb fp0 5:36

Frwx w0 Fmkw0 0r9sd
wh 04yb Nm ryty Nylh Nmd Mdm f fw Ny0 Ny0 Jwktlm 0wht f0 5:37

0n4 Plx 0n4w 0ny9 Plx 0ny9d rm0t0d Jwt9m4 5:38

0xmd Nm f0 04yb Lbqwl Jwmwqt fd Jwkl 0n0 rm0 Nyd 0n0 5:39

0nrx0 P0 hl 0np0 0nymyd Kkp L9 Kl
K=w=rm P0 hl Qwb4 Knytwk Lwq4nw Km9 Jwdnd 0bcd Nmw 5:40

Nyrt hm9 Lz dx fym Kl rx4md Nm 5:41

Yhwylkt f Knm Pz0nd 0bcd Nmw hl Bh Kl L04d Nm 5:42

Kbbdl9bl Ynsw Kbyrql Mxrd rm0t0d Jwt9m4 5:43

Jwkl +0ld Nml wkrbw Jwkybbdl9bl wbx0 Jwkl 0n0 rm0 Nyd 0n0 5:44

0ry=qb Jwkl Nyrbdd Nyly0 L9 wlcw Jwkl 0nsd Nml ryp4d wdb9w
Jwkl Nypdrw
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L9w 0b= L9 h4m4 Xndmd wh 0ym4bd Jwkwb0d Yhwnb Jwwhtd 0nky0 5:45

fw9 L9w 0n0k L9 hr=m txmw 04yb
 0h f Jwkl ty0 0rg0 0nm Jwkl Nybxmd Nyly0l Jwtn0 Nybxm ryg J0 5:46

Nydb9 0dh Yh 0skm P0
Jwtn0 Nydb9 ryty 0nm dwxlb Jwkyx0d 0ml4b Jwtn0 Nyl04 J0w 5:47

Nydb9 0dh Yh 0skm P0 0h f
wh rymg 0ym4bd Jwkwb0d 0nky0 0rymg Jwtn0 Lykh wwh 5:48
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. w .

Jwzxttd Ky0 04n0 Ynb Mdq hnwdb9t fd Jwktqdzb Nyd wrwx 6:1

0ym4bd Jwkwb0 twl Jwkl tyl 0rg0 f0w Jwhl
Ky0 Kymdq 0nrq 0rqt f Fqdz tn0 db9d Lykh Ytm0 6:2

04n0 Ynb Nm Jwxbt4nd Ky0 0qw4bw F4wnkb 0p0b Ybsn Nydb9d
Jwhrg0 wlbqd Jwkl 0n0 rm0 Nym0w

Knymy 0db9 0nm Klms (dt f Fqdz tn0 db9d 0m Nyd tn0 6:3

0ylgb K9rpn wh 0yskb 0zxd <wb0w 0yskb <tqdz 0whtd Ky0 6:4

F4wnkb Mqml Nymxrd 0p0b Ybsn Ky0 0wht f tn0 fcmd 0mw 6:5

wlbqd Jwkl 0n0 rm0 Nym0w 04n0 Ynbl Jwzxtnd wylcml 0qw4d Fywzbw
Jwhrg0

<wb0l fcw K9rt dwx0w Knwtl Lw9 tn0 fcmd Ytm0 Nyd tn0 6:6

0ylgb K9rpn 0yskb 0zxd <wb0w 0yskbd
flmmbd ryg Nyrbs 0pnx Ky0 Nyqqpm Jwtywh f Jwtn0 Nylcmd 0mw 6:7

Ny9mt4m 00ygs
Yhynwl04t fd9 Jwkl 09btm 0nm (dy ryg Jwkwb0 Jwhl Jwmdt Lykh f 6:8

 
Jwtn0 wlc Lykh 0nkh 6:9
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0ym4bd Jwb0
Km4 $dqtn

<twklm F0t 6:10

09r0b P0 0ym4bd 0nky0 Knybc 0whn 
0nmwy Nnqnwsd 0mxl Nl Bh 6:11

Nybyxl Nqb4 Nnx P0d 0nky0 Nybwx Nl Qwb4w 6:12

 0nwysnl Nl9t fw 6:13

 04yb Nm Jcp f0
Fwklm Yh Klydd L=m

Fxwb4tw fyxw
Nyml9 Ml9l
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0ym4bd Jwkwb0 Jwkl P0 Qwb4n Jwhtwlks 04nynbl Jwqb4t ryg J0 6:14

Jwktwlks Jwkl Qb4 Jwkwb0 fp0 04nynbl Jwqb4t f Nyd J0 6:15

Nylbxm 0p0b Ybsn Ky0 0rymk Jwwht f Jwtn0 Nymycd Nyd Ytm0 6:16

wlbqd Jwkl 0n0 rm0 Nym0w Nymycd 04nynbl Jwzxtnd Ky0 Jwhypwcrp ryg
Jwhrg0

K4r Xw4mw Kyp0 Gy40 tn0 M0cd 0m Nyd tn0 6:17

<wb0w 0yskbd <wb0l f0 tn0 M0cd 04nynbl 0zxtt fd Ky0 6:18

K9rpn wh 0yskb 0zxd
0ky0w Nylbxm fk0w 0ssd rt0 09r0b Fmys Jwkl Jwmyst f 6:19

Nybngw Ny4lp 0bngd
Nylbxm fk0 fw 0ss fd 0ky0 0ym4b Fmys Jwkl wmys f0 6:20

Nybng fw Ny4lp f 0bngd 0ky0w
Jwkbl P0 wh Nmt Jwktmys hyty0d ryg 0ky0 6:21

hlk P0 0=y4p 0wht Lykh Kny9 J0 0ny9 hyty0 0rgpd 0gr4 6:22

wh ryhn <rgp
0rhwn Lykh J0 0whn 0kw4x <rgp hlk 04yb 0wht Kny9 Nyd J0 6:23

0whn 0mk Kkw4x wh 0kw4x Kbd
Mxrn 0nrx0lw 0nsn dxl ryg w0 Xlpml Jwrm Nyrtl Xk4m $n0 f 6:24

0nwmmlw Xlpml 0hl0l Jwtn0 Nyxk4m f +w4n 0nrx0lw rqyn dxl w0
0nmw Jwlk0t 0nm Jwk4pnl Jwpc0t f Jwkl 0n0 rm0 0nh L=m 6:25

0rgpw Frbys Nm 0ryty 04pn 0h f Jw4blt 0nm Jwkrgpl fw Jwt4t
04wbl Nm

0rcw0b Nylmx fw Nydcx fw Ny9rz fd 0ym4d Fxrpb wrwx 6:26

Jwhnm Jwtn0 Nyrtym Jwtn0 0h f Jwhl 0srtm 0ym4bd Jwkwb0w
0dx Fm0 htmwq L9 wpswml Xk4m Pcy dk Jwknm Nyd wnm 6:27
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Nybr 0nky0 0rbdd 0n4w4b wqbt0 Jwtn0 Nypcy 0nm 04wbl L9w 6:28

Nlz9 fw Ny0l fd
Ky0 Yskt0 hxbw4 hlkb Jwmyl4 fp0d Nyd Jwkl 0n0 rm0 6:29

Nyhnm 0dx
0hl0 0rwntb Lpn rxmw Yhwty0 0nmwyd fqxd 0rym9l Nyd J0 6:30

Fwnmyh Yrw9z Jwkl ryty Ygs f $blm 0nkh
0nm w0 F4n 0nm w0 Lwk0n 0nm Jwrm0t w0 Jwpc0t Lykh f 6:31
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